202047 LA AW B BR BE R AR AR A G R Mgl 7 — &

WEL E=H2 ) TRE

TR R - R (pg/g-dry)

MG NS AR - U
FAEH A HEIW O (FEETH)

TR R E HEE Ht T RRAE T R AE

[1] #APCB 530 %3.1 %8.2
[1-1]€/ 78807 =)L 2.0 0.1 0.4
[12]Y7uub 7=/ 13 0.2 0.6
[13] R Zwm b7 ==/LJ 54 0.3 0.8
[1-4]7 hF /b7 x= 5 110 0.3 0.8
[1-4-11 =277 F—PCBD 5 H 33447 hF7 /a7 =L (#77) 2.2 0.3 0.8
[1-42] 275 F—PCBD 5 53,4457 hF7mu 7 ==L (481) tr(0.3) 0.3 0.8
[1-5] >4 Z7un b7 ==/ 150 0.4 1.0
[1-5-1] 275 F—PCBD 5 5 23344~ F /a7 ==/l (#105) 11 0.4 1.0
[1-52] 277 F—PCBD H H 234452 %7aub 7 == (#114) tr(0.7) 0.4 1.0
[1-53] 275 F—PCBD 5 5 2,344,504 7nnt7 ==/l (#118) 25 0.4 1.0
[1-54] 27T F—PCBD 9 H 23445477 =)L (#123) tr(0.6) 0.4 1.0
[1-5-51 27T F—PCBD 9 5 334454 7an b7 =/l (#126) tr(0.4) 0.4 1.0
[1-6] ~F P un e ” ==/ L 140 0.3 0.8
[1-6-11 27 FF—PCBD 9 5 233 44,5-~F o7 ==/ (#156) 3.3 0.3 0.8
[1-6-2] 275+ —PCBDHH 23344 5-~FH /oo 7=/ (#157) 1.0 0.3 0.8
[1-6-3] 2777 —PCBD 5 H 234455 ~FF /o7 ==L (#167) 1.5 0.3 0.8
[1-6-4] =77 —PCBD 5 H 33 4455-~FHrmm 7 x=/L (#169) nd 0.3 0.8
[I-7]~7%7uub 7 == 48 0.6 1.5
[1-7-1]1 =277 —PCBD 5 5 22'33'44,5-~7 % /aa 7 ==L (#170) 5.7 0.6 1.5
[1-721 27T F—PCBD 9 5 2234455 ~7 X 7ot ==/ (#180) 13 0.6 1.5
[1-7-3] =277 —PCBD 5 5 23344 55-~7 X% /aa b7 ==/L (#189) nd 0.6 1.5
[1-8] A2 %7 nnb 7 ==/ 8.0 0.3 0.8
[1-9] /FZBubt T =)L 12 0.4 0.9
[1-10] T 7T x=)L 1.5 0.2 0.6
[2JHCB (~FHy 7o) 47 0.5 1.3
[7] 7 v V7 ¥ 54 %1.8 %4.5
[7-1] cis-7 @)V T 13 0.5 1.2
[7-2] trans -7 v VT > 12 0.1 0.2
[7-3] A7 a s tr(1.0) 0.7 1.8
[7-4] cis-/ T 7 a)v 8.5 0.3 0.8
[7-5] trans-/ F 2 @ )v 19 0.2 0.5
[8] ~7 % 7 v VIH tr(1.9) %1.2 3.1
[8-1] ~F % 7 a v tr(0.3) 0.2 0.4
[82) cis -~ % 7 L ERF LR tr(1.6) 0.7 1.7
[8-3] trans -~T7 % 7 @ )L TR ¥ K nd 0.4 1.0
[15] ~v 7 )vAuat s 2 2k (PFOS) 10 2 5
[16] ~ V7 A aA 7 % B (PFOA) tr(7) 3 8
7122 7maXrPy 24 0.2 0.4
RII~FHr7ouTH13,-0T nd 10 30
[23] FSHIE SR R T 7 4 V5 nd 2,200 %5,300
[23-1] ¥R (kT 1 A nd 400 900
[23-2] SRk D > T 0 K nd 500 1,200
[23-3] HiFR(b R 8 nd 800 2,000
[23-4] SFE NV T K nd 500 1,200
[24] ¥ =k nd 5 13
[25] =7 LA ~F P ALk (PFHXS) nd 3 6
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